
#A.IRONRIDGE Bonding Hardware 

ITEM NO. DESCRIPTION 

1 BOLT, T CSTM, 3/8-16

2 BOLT, BONDING 3/8-16 SQ HEAD
3 NUT, BONDING STEP

BONDING HARDWARE 

Part Number Description 

BHW-TB-02-A 1 T-BOLT, BONDING HARDWARE
BHW-SQ-02-A 1 SQUARE-BOLT, BONDING HARDWARE

1) BOLT, T CSTM, 3/8-16 2) BOLT, BONDING 3/8-16 SQ HEAD

3/8-16 THD l_ 
.56 �

7 1.00 r 

24
�

� 
.29

Property Value 

Material 300 Series Stainless Steel
Finish Clear

3) NUT, BONDING STEP

0.75
� 

7/16"Head� 

Property 

Material
Finish

T 
3/8-16 THD 

Property Value 

Material 300 Series Stainless Steel
Finish Clear

3/8-16 THD 

---j .79

Value 

300 Series Stainless Steel
Clear

v1 .30 


